(1)

dB(A)
(2)
dB(A)
dB(A) ( 51 )
B(A)
B(A)
B(A)
B(A)
B(A)
(3)
(4)

dB(A)



10
12

10

30

17

17
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(6)
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(3)

(4)
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(5)

16 (dB(A)

4

11



(1)

(2)
16
(BA)
(
)
(
)
)
(
(1)
(2) 70 80dB(A)
O
10 11 12
90| 88 1101|9584 |97 (98| 99| 97 |100] 97 | 90 | 97
85190199 (95|83 (98 (98| 99|98 |101]| 98 | 84 | 97
70,6418 |75]162|76(79]|181|180|8]8 |69 79
515065 |63|49 (6567|6968 | 71|66 |56 | 66
66| 74180 | 7416381818 |80 |83]8 |69 79
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16 29 )
70dB 80dB 900B
80dB 90dB 10008 | 100dB

23.1 21. 7 51.2 22. 3 118. 3
29.4 34.3 13. 8 18.9 96. 4
17.6 10. 4 8.6 0.1 36.7
12.9 2.6 0.1 0.0 15. 6
15.1 7.6 5.8 0.3 28. 8

16 12 19 17 17 30 )

700B 80dB 900B

80dB 90dB 10008 | 100dB
16. 2 22.9 23.1 25.5 87.7
16.9 23.2 24.0 24.5 88.5
14.5 11.9 15.9 0.7 43.0
19.0 6.9 0.1 0.0 26.0
0.4 7.5 4.8 1.5 23.3
ha

ha ha
ha ha
ha ha

1
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